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Passing Marks : 2
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1e question from each unil.

of quan 'tiaa used/caleulated must be stated clearly.) ,.-:;_-;a-;&
3 (h) Solve the following game using n|_--__-__
’*'? ' 4 dominance:
1 ﬂnmg‘rrﬁmnccand scope of OR in modern AP S

All qmtwn&
w erever necessary. Any data you feel missing
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Unm-phase Slmplex method solve to o g ) 2
MMIZE = 3x, + 2%, + 2X ) p A L ; 5 5
Subjecta to 5x, = Txy + 4X3 < 7 2 i : = | :
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M9 Ya) Write short note on the sensitivity analysis. [8] 4 (4) Explain the necessity for maintaining an inve ..
3 Discuss the role of OR in decision making. |8] 2
i -8 “Unit-10’. (h) An ice-cream retailer buys ice cream at a ¢cos
{0) Solve the ﬁ::.ll;:wing prr;-hl:zm. Rs. 5/cup and sells it for Rs. 8 cup, any remm
B 7~ 3+ x, unsold at the end of the day can be disposes
Sibject 10 x 2 g 2 a salvage price of Rs. 2/cup past sales have :
o between 15 and 18 cups/day. Find the e
; S monctary value if the sale history has following
% > }i: S 3.3 i'}H}l'}-‘il’liiiliL‘?:: 18
i Xi. X5 2 0 and integer. [8]
= (b) State and Exp|3|n the principle of optimally in Market size : 15 16 1) ‘i 18
: reference to the dynamiu programming. 18] Probability : | 0.10 | 0.20 | 0.40 | 030
« Using Dynamic Prﬂgrammlnb solve the following. 4. (a) Explain deterministic and stochastic inve nto
IMax ~ Z= Yty tY; < e IO
- Subjectto y; y, y; < 5 (b) The demand for a commodity is 100 umtpEF
" where . > 0 and integers. (16} Every time an order is p!a:ed, a fixed mﬂ
b 400 is incurred. Holding cost is Re. 0.08 pe
: Unit-TII", per day. If the lead time is 13 days, detenn
iﬂ) ‘A and B in which each has three coins a 5p,a 10p cconomic lot size and the recorder pomt.'" |
¥ - and a 20p. Each player selects a coin without the g
f : ""‘W"MEE of the other’s choice. If the sum of the U tr-‘V’_, .
":mms is an odd amount. A wins B’s win. If the 3. (a) Explain the apphcatmn of mmu!almn i— |
J m is even B wins A’s win. Find the best strategy e inventory puai o
: player and the value of the game. [8) (h) What is simulation ? When to I" |
| ’ﬁ - game theury" Include in your answer i
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